
         263

TEKS
AR.3B Compare and 

��������ȱ���ȱ��¢ȱ�Ĵ�������ȱ
��ȱ�ȱ��������ȱ���ȱ���ȱ�������ȱ
 ���ȱ��ȱ�¡����ǰȱ���������ȱ
������ǰȱ�����ǰȱ��¡���ǰȱ
������ǰȱ���ȱ����������ǰȱ
��������¢ǰȱ����������¢ǰȱ���ȱ
�¢���������¢ǯ

AR.7A Represent 

������ȱ���ȱ�����ȱ��ȱ�ȱ
��������ȱ�����ȱ��������ȱ
��������ǰȱ������������ǰȱ���ȱ
���ȱǻ�������Ǽȱ��������ǯ

MATHEMATICAL 
PROCESS SPOTLIGHT
AR.1C ������ȱ�����ǰȱ
���������ȱ����ȱ�������ǰȱ
�������������ǰȱ�����ȱ���ȱ
������ǰȱ���ȱ���������¢ȱ
��ȱ�����������ǰȱ���ȱ����-

������ǰȱ���������ȱ������ȱ
����ǰȱ����������ǰȱ���ȱ���-

���ȱ�����ȱ��ȱ�����������ǰȱ��ȱ
�����ȱ��������ǯ

ELPS
4F ���ȱ������ȱ���ȱ
�����¡����ȱ�������ȱ���ȱ
�������ȱ����ȱ�����ȱ���ȱ
��������ȱ��ȱ����ȱ�����Ȭ��-

���������ȱ�������ȱ����ȱ
��¡�ǰȱ�������ȱ���ȱ���ę��ȱ
�������������ǰȱ���ȱ�����-
��ȱ���������¢ǰȱ�����ȱ��ȱ
��������ȱ����������ǰȱ���ȱ
����������ȱ��� �����ȱ
needed to comprehend 

�����������¢ȱ�����������ȱ
��������

VOCABULARY
��������ǰȱ�������ǰȱ������ǰȱ
�����ǰȱ��¡����ǰȱ����-
���ǰȱxȬ���������ǰȱyȬ�����-
����ǰȱ����ȱ��ȱ��Ě������

MATERIALS
• ��������ȱ����������
• �����ȱ�����
• ��Ĵ¢ȱ�����

INTEGRATE TECHNOLOGY
���ȱ���ȱ����ȱ������ȱ��ȱ�ȱ��������ȱ����������ȱ��ȱ�����ȱ���ȱ
xȬ�����������ȱ���ȱyȬ�����������ȱ��ȱ���ȱę����ȱ����ȱ� �ȱ
��������ȱ�����ǯȱ���ȱ����ȱ����������ȱ��ȱ��� ȱ�� ȱ��������ȱ
���ȱ����ȱ��ȱ���ȱ���ȱ��ȱ�����������ȱ��Ě����ȱ���ȱę����ȱ������ȱ
������ȱ���ȱxȬ�¡��ȱ��ȱyȬ�¡��ǯ
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3.1    Generating Inverses of Functions

FOCUSING QUESTION What is the inverse of a function?

LEARNING OUTCOMES
�Q �ȱ���ȱ�������ȱ���ȱ��������ȱ���ȱ��¢ȱ�Ĵ�������ȱ��ȱ�ȱ��������ȱ���ȱ���ȱ�������ȱ ���ȱ
�ȱ����ȱ���ȱ��������ȱ��ȱ�ȱ�����ǰȱ�����ǰȱ��ȱ ��Ĵ��ȱ�¢���������¢ǯ

�Q �ȱ���ȱ���������ȱ���ȱ������ȱ���ȱ�����ȱ��ȱ�ȱ������ȱ��������ȱ��ȱ�ȱ������¢ȱ��ȱ �¢�ǰȱ
���������ȱ��������ȱ��������ǰȱ������������ǰȱ���ȱ���ȱ�������ȱ��������ǯ

�Q �ȱ���ȱ���ȱ���ȱ������ȱ�����ǰȱ���������ȱ��������ȱ���������¢ǰȱ�����ȱ���ȱ������ǰȱ���ȱ
�������������ȱ����ȱ��Ĵ¢ȱ�����ǰȱ��ȱ�����ȱ��������ǯ

ENGAGE
�¢���ǰȱ �ȱ �������� 
��������ǰȱ �����ȱ ��ȱ
��Ě���ȱ ���ȱ ę����ȱ
��� �ȱ��ȱ�ȱ����ȱ��ȱ��ȱ
���������ȱ�������ǯ

����ȱ ����ȱ��ȱ���ȱ�����������ȱ��ȱ����ȱ�����¡ȱ��ȱ���ȱ�� ȱę�-

���ȱ��ȱ�¢���ȱ��Ě�����ȱ���ȱ��������ȱę����ȱ������ȱ���ȱyȬ�¡��ǵȱ���ȱ
xȬ�¡��ǵ

Across the y-axis: A'(9, 4) B'(7, 8) C'(4, 8) D'(5, 6) E'(2, 3)
Across the x-axis: A'(-9, -4) B'(-7, -8) C'(-4, -8) D'(-5, -6) E'(-2, -3)

EXPLORE

���ȱ��������ȱ��������ȱ��ȱ����ȱ�ȱ������ȱ�������ȱ��ȱ�ȱ��������ȱ��ȱ���ȱ�����ȱ��ȱ���ȱ����-
���ǯȱ���������ȱ��ȱ���ȱ��¡��ȱ������ȱ
�������ǰȱ���ȱ��������ȱ��������ȱ��ȱ����ȱ�ȱ�������ȱ
������ȱ��ȱ�ȱ�����ȱ�����ǰȱ��ȱ��¢ȱ��������ȱ ���ȱ����ȱ�����ǰȱ��ȱ��� �ȱ��ȱ���ȱ�����ȱ��ȱ
����ȱŘŜŚǯ

Provincetown Library
Provincetown, Massachusetts
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2. 

4. ���ȱ������ȱ���Ĵ������ǰȱ
�����ȱ������ȱ�������ȱ
��������ǰȱ�������ȱ��ȱ��ȱ�ȱ
��Ě������ȱ������ȱ�ȱ��������ȱ
����ȱ��ȱ���ȱę���ȱ���Ĵ������ǰȱ
�������ȱ��������ȱ������ȱ
�����ǯ

5.

6. ���ȱ������ȱ����ȱ���ȱę���ȱ
���Ĵ������ȱ����ȱ��ȱ�¡����¢ȱ
��ȱ���ȱ��ȱ���ȱ������ȱ��ȱ���ȱ
������ȱ���Ĵ������ǯ INTEGRATE TECHNOLOGY

���ȱ���ȱ����ȱ������ȱ��ȱ�ȱ��������ȱ����������ȱ��ȱ�����ȱ���ȱ
����ȱ����ȱ� �ȱ��������ȱ�����ȱǻ����ȱŗȱ���ȱ���ȱ�����������ȱ
��������ȱ���ȱ����ȱŘȱ���ȱ���ȱ���������ȱ��������Ǽǯȱ����ȱ�ȱ
���Ĵ������ȱ��ȱ����ȱŘȱ������ȱ����ȱŗǰȱ����ȱ�������ȱ���ȱ������ȱ
���ȱ�����ȱ��ȱ����ȱ�ȱ���Ĵ������ȱ��ȱ����ȱŗȱ������ȱ����ȱŘǯȱ
�������ȱ���ȱ� �ȱ���Ĵ�������ȱ�������¢ǯȱ	����ȱ���ȱ����ȱ 
y = xȱ��ȱ���ȱ��ȱ���ȱ���Ĵ�������ȱ���ȱ���������ȱ ������ȱ
��ȱ���ȱ���ȱ� �ȱ���Ĵ�������ȱ���ȱ�ȱ��Ě������ȱ��ȱ����ȱ�����ȱ
������ȱ���ȱ����ȱy = xǯȱ
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SPEED 
(MILES 

PER HOUR)
20 30 40 50 60 70

BRAKING 
DISTANCE 

(FEET)
63 109 164 229 303 387

Source: Texas Department of Public Safety

1. ���ȱę����ȱ��ě�������ȱ��ȱ����������ȱ������ȱ��ȱ���������ȱ��ȱ���ȱ����ȱ���ȱ����������ȱ
�ȱ������ǰȱ���������ǰȱ�����ǰȱ��ȱ�¡���������ȱ��������ǯ
The second differences are approximately constant (9.5) so the data set 
represents a quadratic function.

2. ����ȱ�ȱ���Ĵ������ȱ��ȱ���ȱ�������ȱ��������ȱ������ȱ�����ǯ
See margin.

3. �������ȱ����ȱ¢��ȱ��� ȱ����ȱ�ȱ����ȱ����ȱ���ȱ������ȱ��ȱ���ȱ�������ȱ��������ȱ���ȱ
 �����ȱ��ȱ��� ȱ���ȱ�����ȱ��ȱ���ȱ������ȱ�������ǯȱ��ȱ����ȱ���������ǰȱ ���ȱ ����ȱ
��ȱ���ȱ�����������ȱ��������ȱ���ȱ ���ȱ ����ȱ��ȱ���ȱ���������ȱ��������ǵ
Braking distance is the independent variable and speed is the depen-
dent variable.

4. ��ȱ���ȱ����ȱ����ǰȱ����ȱ�ȱ���Ĵ������ȱ��ȱ�����ȱ������ȱ
�������ȱ��������ǯȱ����ȱ��ȱ¢��ȱ������ȱ�����ȱ���ȱ� �ȱ
���Ĵ�������ǵ
See margin.

5. ��� ȱ���ȱ����ȱy = xȱ��ȱ¢���ȱ�����ǯȱ��¢ȱ�ȱ�����ȱ��ȱ��Ĵ¢ȱ 
ȱ �����ȱ��ȱ���ȱ��ȱ���ȱ�����ǯȱ�����ȱ���ȱ�����ȱ���ȱxȬ�¡��ǰȱ 
 yȬ�¡��ǰȱ���ȱ����ȱy = xǰȱ���ȱ���ȱ������ȱ��ȱ���ȱę���ȱ���Ĵ�� 
ȱ ����ǰȱ�������ȱ��������ȱ������ȱ�����ǯ
 See margin.

6. ���ȱ���ȱ��Ĵ¢ȱ�����ȱ��ȱ��Ě���ȱ���ȱę���ȱ���Ĵ������ȱ������ȱ 
ȱ ���ȱ����ȱy = xǯȱǻ
���Ǳȱ
���ȱ���ȱ��Ĵ¢ȱ�����ȱ�����ȱ���ȱ���Ȭ�����ȱ 
ȱ ������ȱ��ȱ���ȱ����ȱ¢ȱƽȱ¡ȱ ���ȱ¢���ȱ�����ȱ����¡ȱę����ȱ���ȱ

�����ǯȱ
���ȱ���ȱ��Ĵ¢ȱ�����ȱ�����ȱ���ȱ��Ĵ��Ȭ����ȱ������ȱ��ȱ���ȱ����ȱ¢ȱƽȱ¡ȱ ���ȱ¢���ȱ
����ȱ����¡ȱę����ȱ���ȱ�����ǯȱ����ȱ���ȱ��Ĵ¢ȱ�����ȱ����ȱ ������ȱ������ȱ¢���ȱę�����ȱ���ȱ
������ǯȱ����ȱ��ȱ���ȱ�¡��ȱ��ȱ���ȱ��Ĵ¢ȱ�����ȱ ���ȱ���ȱ�¡��ȱ��ȱ���ȱ�����ȱ�������ǯǼ What 

do you notice?

See margin.

���ȱinverseȱ��ȱ�ȱ��������ȱ��ȱ�ȱ��������ȱ��ȱ ����ȱ���ȱ������ȱ���ȱ�����ȱ��ȱ���ȱ��������ȱ
��������ȱ���ȱ� ������ǯȱ���ȱ������ȱ��ȱ���ȱ��������ȱ��������ȱ�������ȱ���ȱ�����ȱ��ȱ���ȱ
�������ȱ���ȱ���ȱ�����ȱ��ȱ���ȱ��������ȱ��������ȱ�������ȱ���ȱ������ȱ��ȱ���ȱ�������ǯȱ���ȱ
���Ĵ������ȱ��ȱ�����ȱ������ȱ�������ȱ��������ȱ��ȱ���ȱ�������ȱ��ȱ���ȱ���Ĵ������ȱ��ȱ�������ȱ
��������ȱ������ȱ�����ǯ

7. 
� ȱ���ȱ���ȱ�������ȱ���Ĵ������ȱ���ȱ���ȱ��������ȱ���Ĵ������ȱ�������ǵ
9MJ�NS[JWXJ�XHFYYJWUQTY�NX�F�WJĆJHYNTS�TK�YMJ�TWNLNSFQ�XHFYYJWUQTY�FHWTXX�
the line y = x. 

����ȱ����������ȱ�ȱ����-
�������ǰȱ¢��ȱ���ȱ��¢ȱ���ȱ
���Ĵ������ȱ��ȱ���ȱ����ȱ��ȱ
the dependent variable 

versus the name of the 

independent variableǯȱ
���ȱ�¡�����ǰȱ��ȱ¢��ȱ���ȱ
��������ȱ����ȱ ����ȱ
speed is the indepen-
dent variable and dis-
tance is the dependent 
variableǰȱ¢��ȱ���ȱ��¢ȱ����ȱ
¢��ȱ����ȱ�ȱ���Ĵ������ȱ��ȱ
distance versus speedǯ
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8. ���ȱ������ȱ��ȱ���ȱ����-
����ȱ���Ĵ������ȱ�������ȱ
���ȱ�����ȱ��ȱ���ȱ�������ȱ
���Ĵ������ǯȱ���ȱ�����ȱ��ȱ
���ȱ��������ȱ���Ĵ������ȱ
�������ȱ���ȱ������ȱ��ȱ���ȱ
�������ȱ���Ĵ������ǯ

9. ���ȱ�����ȱ��ȱ���ȱ�������ȱ��ȱ
���ȱ����������ȱ��ȱ���ȱ�����ȱ
��ȱ���ȱ��������ǰȱ�ǻ¡Ǽǯȱ���ȱ
¢Ȭ����������ȱ��ȱ���ȱ¢Ȭ��-
�������ȱ��ȱ�ǻ¡Ǽȱ��ȱ���ȱ����ȱ
��ȱ���ȱ¡Ȭ����������ȱ��ȱ���ȱ
¡Ȭ���������ȱ��ȱ���ȱ�������ǯȱ
���ȱ¡Ȭ����������ȱ��ȱ���ȱ
¡Ȭ���������ȱ��ȱ�ǻ¡Ǽȱ��ȱ���ȱ
����ȱ��ȱ���ȱ¢Ȭ����������ȱ
��ȱ���ȱ¢Ȭ���������ȱ��ȱ���ȱ
�������ǯ

10. ���ȱ�����������ȱ��ȱ���ȱ���-
��¡ȱ��ȱ�ǻ¡Ǽȱ���ȱ� ������ȱ���ȱ
���ȱ�����¡ȱ��ȱ���ȱ�������ǯ

REFLECT ANSWER:
��ǯȱ�ȱ��������ȱ��ȱ�ȱ��������ȱ��ȱ ����ȱ����ȱ�����ȱ��ȱ���ȱ�����������ȱ��������ȱ���������ȱ���¢ȱ
���ȱ�����ȱ��ȱ���ȱ���������ȱ��������ǯȱ���ȱ�������ȱ��ȱ�ȱ������ȱ��������ȱ��ȱ�� �¢�ȱ�ȱ��������ǯȱ
���ȱ���ȱ�������ȱ��ȱ�ȱ���������ȱ��������ȱ��ȱ���ȱ�ȱ��������ȱ�������ǰȱ�¡����ȱ���ȱ���ȱ�����¡ǰȱ
����ȱ�����������ȱ��������ȱ�����ȱ���������ȱ� �ȱ������ȱ��ȱ���ȱ���������ȱ��������ǯ
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8. �ȱ�����ȱ��ȱ������ȱ���ȱ����ȱ���Ĵ�������ȱ��ȱ��� �ǯ
Braking Distance vs. Speed            Speed vs. Braking Distance


� ȱ���ȱ���ȱ������ȱ���ȱ�����ȱ��ȱ���ȱ��������ȱ���Ĵ������ȱǻ�������ȱ��������ȱ���-
���ȱ�����Ǽȱ���ȱ���ȱ�������ȱ���Ĵ������ȱǻ�����ȱ������ȱ�������ȱ��������Ǽȱ�������ǵ
See margin.

9. Graph the function �ǻx) = 3xȱȮȱŚǯȱ���ȱ�ȱ�����ȱ���ȱ�ȱ�����ȱ��ȱ������ȱ��ȱ���������ȱ
the inverse of �ǻxǼǯȱ
� ȱ��ȱ���ȱ�����ȱ���ȱ����������ȱ��ȱ���ȱ��������ȱ�������ȱ
 ���ȱ���ȱ�����ȱ���ȱ����������ȱ��ȱ���ȱ�������ǵ
See margin.

10. Graph the function �ǻxǼȱƽȱǻxȱƸȱŚǼŘȱƸȱŘǯȱ���ȱ�ȱ�����ȱ���ȱ�ȱ�����ȱ��ȱ������ȱ��ȱ�����-
sent the inverse of �ǻxǼǯȱ
� ȱ����ȱ���ȱ�����¡ȱ��ȱ�ǻxǼȱ�������ȱ��ȱ���ȱ�����¡ȱ��ȱ���ȱ
inverse?

See margin.

SPEED, x
(MILES 

PER HOUR)

BRAKING 
DISTANCE, 
y (FEET)

20 63

30 109

40 164

50 229

60 303

70 387

BRAKING 
DISTANCE, 
x (FEET)

SPEED, y
(MILES 

PER HOUR)

63 20

109 30

164 40

229 50

303 60

387 70

REFLECT

�Q How can you use a graph to generate the inverse of a function? 
7JĆJHY�YMJ�LWFUM�TK�YMJ�TWNLNSFQ�KZSHYNTS�FHWTXX�YMJ�QNSJ�^�"�]�

�Q How can you use a table to generate the inverse of a function?
Reverse the independent and dependent variables.

�Q How are the domain and range of a function related to the domain and 
range of its inverse?

The domain of the function is the range of its inverse.
The range of the function is the domain of its inverse.

�Q Is the inverse of a function always a new function? Explain your answer.
See margin.

x f(x) = 3x – 4

-1 -7

0 -4

1 -1

2 2

3 5

4 8

x g(x) = (x – 4)2 + 2

-1 -7

0 -4

1 -1

2 2

3 5

4 8

x y

-7 -1

-4 0

-1 1

2 2

5 3

8 4

x y

-7 -1

-4 0

-1 1

2 2

5 3

8 4
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QUESTIONING 
STRATEGIES
��ȱ��������ȱ�����ȱ��ȱę��ȱ
���ȱ��������ȱ��ȱ���������ǰȱ
��ȱ��ȱ���������ȱ��ȱ����ȱ����ȱ
��ȱ�����ȱ��������ȱ�����ȱ
���������ȱ����ȱ��������ȱ
�������ǯ

• 
� ȱ���ȱ�ȱ����ȱ��ȱ�ȱ
�����ȱ����������ȱ�ȱ
��������ǵ

• 
� ȱ���ȱ�ȱ����ȱ��ȱ�ȱ�����ȱ
��ȱ������ȱ����������ȱ�ȱ
��������ǵ

• 
� ȱ���ȱ�ȱ����ȱ��ȱ��ȱ
��������ȱ����������ȱ�ȱ
��������ǵ
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EXPLAIN

�ȱ��������ȱ��ȱ�ȱ������������ȱ��� ���ȱ��ȱ�����������ȱ��������ȱ���ȱ�ȱ���������ȱ����-
����ǯȱ���ȱ������ȱ��ȱ���ȱ�����������ȱ��������ȱ���ȱ������ȱ���ȱ������ȱ��ȱ���ȱ��������ȱ���ȱ
���ȱ������ȱ��ȱ���ȱ���������ȱ��������ȱ���ȱ������ȱ���ȱ�����ȱ��ȱ���ȱ��������ǯȱ

���ȱ ���ȱ�������ȱ��ȱ���ȱ������������ȱ
��ȱ��������ȱ���ȱ���ȱ�����ȱ������ȱ��-
����ȱ ���ȱ �����ȱ  ����ȱ ���ȱ ������ȱ
������ȱ������ȱ���ȱ������ǵȱ����ȱ���-
������ȱ��ȱ������ȱ��ȱ inverseȱ��������ǯȱ
���ȱ �����ȱ ��ȱ ���ȱ ��������ȱ ��������ȱ
�������ȱ ���ȱ������ȱ��ȱ ���ȱ �������ȱ
��������ǰȱ���ȱ���ȱ������ȱ��ȱ���ȱ����-
����ȱ ��������ȱ �������ȱ ���ȱ �����ȱ ��ȱ
���ȱ�������ȱ��������ǯ

���ȱ ���ȱ ��������ȱ ��������ȱ ��ȱ ����-
�����ȱ�����ȱ������ǰȱ������ǰȱ��ȱ����-
�����ǯ

INVERSES IN TABLES
����������ȱ���ȱ�������ȱ���ȱ� �ȱ��ě�����ȱ�����ȱ����ȱ���ȱ����ȱ��ȱ�������ȱ
�����������ǯȱ���ȱ������ȱ���� ȱ��� ȱ����ȱ�������ȱ�����ȱ����ȱ���������ȱ
����������ȱ������������ȱ��ȱ����ȱ�����ǯȱ���ȱ����Ȭ����ȱ�����ȱ�������ȱ����ȱ
¢��ȱ��� ȱ���ȱ�����������ȱ��ȱ�������ȱ�������ȱǻ�ǯ�ǯǰȱ�������ȱ�����������ȱ
��ȱ���ȱ�����������ȱ��������Ǽȱ���ȱ¢��ȱ ���ȱ��ȱ���������ȱ���ȱ�����������ȱ
��ȱ �������ȱ ����������ȱ ǻ�ǯ�ǯǰȱ ����������ȱ �����������ȱ ��ȱ ���ȱ ���������ȱ
��������Ǽǯȱ���ȱ�����Ȭ����ȱ�����ȱ�������ȱ����ȱ¢��ȱ��� ȱ���ȱ�����������ȱ
��ȱ�������ȱ����������ȱǻ�ǯ�ǯǰȱ����������ȱ�����������ȱ��ȱ���ȱ�����������ȱ
��������Ǽȱ���ȱ¢��ȱ ���ȱ��ȱ���������ȱ���ȱ�����������ȱ��ȱ�������ȱ�������ȱ
ǻ�ǯ�ǯǰȱ�������ȱ�����������ȱ��ȱ���ȱ���������ȱ��������Ǽǯ

Celsius to Fahrenheit, F(x)                         Fahrenheit to Celsius, C(x)

 domain         function           range

 range            inverse          domain

TEMPERATURE 
IN CELSIUS

TEMPERATURE 
IN FAHRENHEIT

-17
7—
9 0

-10 14

0 32

10 50

20 68

30 86

TEMPERATURE 
IN FAHRENHEIT

TEMPERATURE 
IN CELSIUS

0 -17
7—
9

14 -10

32 0

50 10

68 20

86 30

domain domainrange range

Watch Explain and
You Try It Videos

or click here



         267

EXTENDING STUDENT 
UNDERSTANDING
�ȱ�����ȱ�����������ȱ�����ǰȱ

�����ǰȱ��������ȱ���-

��������ȱ ���ȱ�������ȱ��ȱ
��������ȱ£���ǰȱ ����ȱ��ȱ���ȱ
�����������ȱ��ȱ ����ȱ���ȱ
���������ȱ����ȱ������ǯȱ 
K = CȱȮȱŘŝřǰȱ ����ȱK rep-

�������ȱ���ȱ�����������ȱ��ȱ

������ȱ���ȱ�ȱ����������ȱ
���ȱ�����������ȱ��ȱ�������ȱ
�������ǯȱ���ȱ��������ȱ��ȱ
����ȱ�ȱ�����ǰȱ�����ǰȱ���ȱ
��������ȱ��ȱ����ȱ��������-

����ȱ���ȱ��������ȱ���ȱ��-

�����ȱ����ȱ����ȱ��ȱ���ȱ�����ȱ
���������������ǯ
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Celsius to Fahrenheit, F(x)                         Fahrenheit to Celsius, C(x)

���ȱ������ȱ��ȱ�ǻxǼǰȱ���ȱ�������ȱ��ȱ����������ȱ����������ȱ��������ǰȱ�������ȱ���ȱ�����ȱ
of CǻxǼǰȱ���ȱ����������ȱ��ȱ�������ȱ����������ǯȱ���ȱ�����ȱ��ȱ�ǻxǼǰȱ���ȱ�������ȱ��ȱ����-
������ȱ ����������ȱ ��������ǰȱ �������ȱ ���ȱ������ȱ��ȱCǻxǼǰȱ ���ȱ����������ȱ ��ȱ�������ȱ
����������ǯȱ����ǰȱCǻx) is the inverse of �ǻxǼǯ

����ȱ������ȱ����ȱ���ȱy-intercept of �ǻxǼǰȱǻŖǰȱřŘǼǰȱ�������ȱ���ȱx-intercept of CǻxǼǰȱǻřŘǰȱŖǼǰȱ
since the xȬ������ȱ���ȱyȬ������ȱ� ����ǯȱ���� ���ǰȱ���ȱx-intercept of �ǻxǼǰȱǻ-17

7
–
9
ǰȱŖǼǰȱ��-

comes the y-intercept of CǻxǼǰȱǻŖǰȱ-17
7
–
9
)ǯ

INVERSES IN GRAPHS
��ȱ�ȱ�����ǰȱ��ȱ�������ȱ��ȱ�ȱ��������ȱ�������ȱ��ȱ�ȱ��Ě������ȱ��ȱ���ȱ�����ȱ��ȱ���ȱ��������ȱ
��������ȱ������ȱ���ȱ����ȱy = xǯȱ����ȱ��Ě������ȱ����������ȱ���ȱ�������ȱ�����ǰȱǻxǰȱy) of the 

��������ȱ��������ȱ����ȱ���ȱ�������ȱ�����ȱǻyǰȱxǼȱ���ȱ���ȱ�������ȱ��������ǯȱ���ȱx- and y-co-

���������ȱ��ȱ���ȱ��������ȱ��������ȱ���ȱ� ������ȱ��ȱ��������ȱ���ȱ�������ǯȱ

���ȱ����������Ȭ�������ȱ����������ȱ��������ǰȱ ����ȱ� represents the temperature in 

�������ȱ����������ȱ���ȱCȱ����������ȱ���ȱ�����������ȱ��ȱ�������ȱ�������ȱ���ȱ��� �ǯ

�Q � = 
9
–
5
CȱƸȱřŘ

�Q C = 
5
–
9
ǻ�ȱȮȱřŘǼ

���ȱ����ȱ��������ǰȱ���ȱ���ȱ�����������ȱ��������ȱ��ȱxǯȱ����ǰȱ�ǻxǼȱ ���ȱ����ȱ¢��ȱ���ȱ���-

��������ȱ��ȱ�������ȱ����������ȱ��ȱ¢��ȱ��� ȱ���ȱ�����������ȱ��ȱ�������ǰȱxǯȱ���� ���ǰȱ
CǻxǼȱ ���ȱ����ȱ¢��ȱ���ȱ�����������ȱ��ȱ�������ȱ�������ȱ��ȱ¢��ȱ��� ȱ���ȱ�����������ȱ��ȱ
�������ȱ����������ǰȱxǯ

TEMPERATURE 
IN CELSIUS

TEMPERATURE 
IN FAHRENHEIT

-17
7—
9 0

-10 14

0 32

10 50

20 68

30 86

TEMPERATURE 
IN FAHRENHEIT

TEMPERATURE 
IN CELSIUS

0 -17
7—
9

14 -10

32 0

50 10

68 20

86 30

domain domainrange range
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DIFFERENTIATING 
INSTRUCTION
������ȱ�����ȱ���ȱ��¢ȱ
���ȱǻ����ȱ	���ȱ���������Ǳȱ
	����ȱ��¢�ȱ��ȱ��ě���������ȱ
�����������Ǽȱ���������ȱ
�����ȱ��������ȱ�����ȱ
���ȱ����ȱ���������ȱ��ȱ
��ě�����������ȱ����������ȱ��ȱ
����ȱ������������ȱ�����ȱ
����������ȱ��ȱ���ȱ��������ǯȱ
��������ȱ�����ȱ���ȱ� �ȱ
�����ȱ����ȱ����������ȱ���ȱ
����ȱ��������ȱ�������ȱ
 ���ȱ��ě�����ȱ������ȱ��ȱ
������¡��¢ǯȱ��������ȱ������ȱ
���ȱ��ȱ���ȱ� �ȱ�����ȱ�����ȱ
��ȱ�����ȱ�������ȱ�����ȱ ���ȱ
���ȱ�����ǯȱ��ȱ����ȱ������ǰȱ
��������ȱ�����ȱ����ȱ�����ȱ
��ȱ�����ȱ��ȱ����ȱ��������ȱ
����ȱ�����ȱ��ȱ���ȱ�¡�����ȱ
�������ȱ�������Ǳ

������ȱ���ȱ�����ȱ��ȱ���ȱ
�������ȱ��ȱ���ȱ��������ȱ ���ȱ
���ȱ�����ȱ��� �ǯ

OPTION 1:

OPTION 2:

268 c H a P t e r  3 :  i n v e r s e s  o f  f u n c t i o n s

������ȱ����ȱ����ȱ����ȱ��ȱ�ȱ��Ě������ȱ��ȱ���ȱ�����ȱ
������ȱ ���ȱ ����ȱy = xǯȱ	���������¢ǰȱ ��Ě�������ȱ
����ȱ���ȱ�������¢ȱ����ȱ����ȱ�����ȱ��ȱ���ȱ�����ȱ
of the function is the same distance from the 

����ȱ��ȱ��Ě������ȱ��ȱ���ȱ�����ǰȱ��ȱ��Ě������ǰȱ��ȱ
���ȱ�����ȱ��ȱ���ȱ�������ǯȱ���ȱ�¡�����ǰȱǻŗŖǰȱśŖǼȱ
����������ȱ ���ȱ ����������ȱ ������������ȱ ŗŖǚ�ȱ
���ȱśŖǚ�ǯȱ����ȱ�����ȱ����ȱŘŞǯŘŞȱ�����ȱ����ȱ���ȱ
����ȱ y = xǰȱ ����ȱ ��ȱ ���ȱ ����ȱ ��ȱ ��Ě������ǯȱ ���ȱ
�����ǰȱǻśŖǰȱŗŖǼǰȱ����������ȱ���ȱ����������ȱ���-

���������ȱśŖǚ�ȱ���ȱŗŖǚ�ǯȱ����ȱ�����ȱ����ȱ ����ȱ
ŘŞǯŘŞȱ�����ȱ����ȱ���ȱ����ȱy = xǯȱ����ǰȱ���ȱ������ȱ
���ȱ�����������ǰȱ��ȱ���ȱ����ȱ��������ǰȱ����ȱ���ȱ
����ȱ��ȱ��Ě������ǯ

����ȱ������ȱ���ȱ�������������ȱ��� ���ȱ���ȱ����������ǯ
�Q ���ȱy-intercept of �ǻxǼȱ�������ȱ���ȱx-intercept of CǻxǼǯȱ��ȱ�����ȱ ����ǰȱ���ȱ�����ȱ
ǻŖǰȱřŘǼȱ��ȱ���ȱ�����ȱ��ȱ���ȱ��������ȱ��������ȱ�������ȱ���ȱ�����ȱǻřŘǰȱŖǼȱ��ȱ���ȱ�����ȱ
��ȱ���ȱ�������ȱ�������ȱ���ȱx- and yȬ�����������ȱ���ȱ���ȱ�������ȱ���ȱ� ������ȱ����ȱ
���ȱ��������ȱ��������ǯ

�Q ���ȱx-intercept of �ǻxǼȱ�������ȱ���ȱy-intercept of CǻxǼǯȱ��ȱ�����ȱ ����ǰȱ���ȱ�����ȱ 
ǻ-17

7
–
9
ǰȱŖ) o�ȱ���ȱ�����ȱ��ȱ���ȱ��������ȱ��������ȱ�������ȱ���ȱ���nt ǻŖǰȱ-17

7
–
9
) on the 

�����ȱ��ȱ���ȱ�������ȱ�������ȱ���ȱx- and yȬ�����������ȱ���ȱ���ȱ�������ȱ���ȱ� ������ȱ
����ȱ���ȱ��������ȱ��������ǯ

INVERSES IN EQUATIONS
���ȱ����������Ȭ�������ȱ����������ȱ��������ǰȱ ����ȱ� represents the temperature in 

�������ȱ����������ȱ���ȱCȱ����������ȱ���ȱ�����������ȱ��ȱ�������ȱ�������ȱ���ȱ��� �ǯ

�Q � = 
9
–
5
CȱƸȱřŘ

�Q C = 
5
–
9
ǻ�ȱȮȱřŘǼ

���ȱ���ȱ���������ȱ���ȱ�������ȱ��ȱ�ȱ��������ȱ����ȱ���ȱ��������ǯȱ�������ȱ���ȱ������ȱ
���ȱ�����ȱ��ȱ ���ȱ��������ȱ ��������ȱ���ȱ � ������ȱ ��ȱ��������ȱ ���ȱ �������ǰȱ � ����ȱ ���ȱ
���������ȱ����ȱ���������ȱ���ȱ�����������ȱ���ȱ���������ȱ���������ȱ��ȱ���ȱ��������ȱ���ȱ
�����ȱ���ȱ���ȱ���������ȱ��������ǯ

�����ȱ  ���ȱ ���ȱ �������ȱ ��ȱ ����������ȱ ����������ȱ �������ȱ  ��Ĵ��ȱ ��ȱ �ȱ ��������ǰȱ 
�ǻx) = 

9
–
5
x +ȱřŘǯȱxȱ����������ȱ���ȱ�����������ȱ��������ȱ���ȱ�ǻx) represents the dependent 

��������ǰȱ ����ȱ���ȱ����ȱ��ȱ�� ��Ĵ��ȱ��ȱyǯȱ���ȱ���ȱ�������ǰȱ� ����ȱx and yȱ���ȱ����ȱ�����ȱ
for yǯ
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ADDITIONAL EXAMPLES
���ȱ����ȱ��ȱ���ȱ������ȱ��ȱ
������ȱ���� ǰȱ��ȱ���ȱ������ȱ
���������ȱ�ȱ��������ǵȱ
������¢ȱ¢���ȱ��� ��ǯ

1.

 ��������

2.

 ���ȱ�ȱ��������

3.

 ��������

4.

 ��������

x y
0 -1

4 3

6 5

8 5

12 1

x y
4 0

5 5

6 10

5 15

4 10

x y
-10 7

-4 7

2 7

8 7

14 7

x y
-2 -10

-1 -5

0 0

1 -4

2 -10       3 . 1  •  G e n e r at i n G  i n v e r s e s  o f  f u n c t i o n s  269

  y = 
9
–
5
xȱƸȱřŘ

 x = 
9
–
5
yȱƸȱřŘ

 xȱȮȱřŘȱƽȱ9–
5
yȱƸȱřŘȱȮȱřŘȱ

 xȱȮȱřŘȱƽȱ9–
5
y

 
5
–
9
ǻxȱȮȱřŘǼȱƽȱ5–

9
ǻ9–
5
)y

 
5
–
9
ǻxȱȮȱřŘǼȱƽȱy

��ȱ����ȱ�������ȱ��������ǰȱy represents CǻxǼǰȱ ����ȱ��ȱ���ȱ�����������ȱ��ȱ�������ȱ���-
����ǰȱ���ȱxȱ����������ȱ���ȱ�����������ȱ��ȱ�������ȱ����������ǯȱ����ȱ��������ǰȱ ����ȱ��ȱ
�ȱ ������ȱ��������ǰȱ ��ȱ����������ȱ��ȱ���ȱ����������ȱ��ȱ�������ȱ�����������ȱ����������ȱ
�������ǯȱ

KEY ATTRIBUTES OF INVERSES OF FUNCTIONS

The inverse of a function may or may not be a function itself. However, 
it does have several important key attributes:
�Q The domain of the original function is the range of the inverse.

�Q The range of the original function is the domain of the inverse.

�Q If the inverse of f(x) is a function, it can be written with the nota-
tion f ü�(x), which is read, “f inverse of x.”

�Q The x-intercept(s) of the original function is/are the y-inter-
cept(s) of the inverse.

�Q The y-intercept of the original function is the x-intercept of the 
inverse.

�Q The maximum or minimum function value (y-value) of the origi-
nal function (e.g., vertex of a quadratic function) is the maximum 
or minimum x-value of the inverse.

EXAMPLE 1
	�������ȱ���ȱ�������ȱ��ȱ���ȱ�¡���������ȱ��������ȱ�����������ȱ��ȱ���ȱ�����ȱ����ȱ����� �ǯȱ
��ȱ���ȱ�������ȱ�ȱ��������ǵȱ������¢ȱ¢���ȱ��� ��ǯ
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YOU TRY IT! #1 ANSWER:
���ȱ�������ȱ��ȱ���ȱ��������ȱ
�����ȱ��������ȱ��ȱ�����������ȱ��ȱ
���ȱ�����Ǳ

ADDITIONAL EXAMPLES
1.ȱȱ	�������ȱ���ȱ�������ȱ��ȱ
���ȱ���������ȱ��������ȱ���-

��������ȱ��ȱ���ȱ�����ȱ���� ǯȱ
��ȱ���ȱ�������ȱ�ȱ��������ǵȱ
������¢ȱ¢���ȱ��� ��ǯ

ȱ ���ȱ�ȱ��������

2.ȱȱ	�������ȱ���ȱ�������ȱ��ȱ
���ȱ�����ȱ��������ȱ�����-
������ȱ��ȱ���ȱ�����ȱ���� ǯȱ
��ȱ���ȱ�������ȱ�ȱ��������ǵȱ
������¢ȱ¢���ȱ��� ��ǯ

ȱ ��������

x y
-2 -156

-1 -44

0 4

1 -12

2 -92

x y
4 -9.5

8 0

12 3.5

16 4

20 4.5

24 8

x y
-9.5 4

0 8

3.5 12

4 16

4.5 20

8 24

x y
-156 -2

-44 -1

4 0

-12 1

-92 2

���ȱ�������ȱ��ȱ���ȱ�ȱ��������ȱ
�������ȱ����ȱ����ȱ���ȱ�����ȱ
�����ȱ�������ȱ����ȱ���ȱ����ȱ��-
����ȱ�����ǯȱȱ���ȱ������ȱ�����ȱ
��ȱŖȱ��ȱ����������ȱ ���ȱ���ȱ�����ȱ
������ȱŖȱ���ȱŘȱ���ȱ���ȱ������ȱ
�����ȱ��ȱřȱ��ȱ����������ȱ ���ȱ���ȱ
�����ȱ������ȱȮȱŗȱ���ȱřǯ
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x y

– 2
1—
9

– 1
1—
3

0 1

1 3

2 9

 STEP 1 Determine the inverse by switching the domain and range 
values of the original function.

x y
1—
9 – 2

1—
3 – 1

1 0

3 1

9 2

 STEP 2 Evaluate the domain and range of the inverse to determine 
whether or not the inverse is a function.

Each domain value in the inverse’s table results in a single range value in the in-
verse’s table.  The relationship between the original exponential function’s domain 
and range is related to the relationship of the domain and range of the inverse.  There-
fore, it is reasonable to conclude that the inverse is also a function.

YOU TRY IT! #1

	�������ȱ���ȱ�������ȱ��ȱ���ȱ��������ȱ�����ȱ��������ȱ�����-
������ȱ��ȱ���ȱ�����ȱ��ȱ���ȱ�����ǯȱ��ȱ���ȱ�������ȱ��ȱ�ȱ��������ǰȱ
 ����ȱ���ȱ��������ȱ��ȱ���ȱ�������ȱ��������ǯȱ��ȱ���ȱ�������ȱ��ȱ
���ȱ�ȱ��������ǰȱ�¡�����ȱ �¢ȱ���ǯ

See margin.

x y

– 1 3

0 0

1 – 3

2 0

3 3

x y

3 -1

0 0

-3 1

0 2

3 3
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ADDITIONAL EXAMPLES
1.ȱȱ	�������ȱ���ȱ�����ȱ 
��ȱ���ȱ�������ȱ��ȱ���ȱ 
������ȱ��������ȱ 
�(xǼȱƽȱȬŘǻx ƸȱŜǼȱȮȱśȱ 
 ����ȱ�����ȱ��ȱ��� �ȱ
���� ǯ

2.ȱȱ	�������ȱ���ȱ�����ȱ��ȱ
���ȱ�������ȱ��ȱ���ȱ���������ȱ
��������ȱh(xǼƽŗ–

4
ǻŘx ȮȱŞǼŘ 

 ����ȱ�����ȱ��ȱ��� �ȱ
���� ǯ
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EXAMPLE 2
	�������ȱ ���ȱ �����ȱ ��ȱ ���ȱ �������ȱ ��ȱ ���ȱ �����ȱ ��������ȱ 
�ǻxǼȱƽȱȮȱǻxȱƸȱŘǼ3ȱƸȱŗȱ ����ȱ�����ȱ��ȱ��� �ȱ���� ǯ

STEP 1 Determine several points on the original  
  graph that represent the general shape of  
  the curve as well as key attributes of the  
  function, such as intercepts.

STEP 2 Switch the x- and y-values of each of the  
  chosen points from the original graph and  
  graph them on the coordinate plane.  Then  
  draw the curve of the inverse through the  
  points you graphed on the coordinate plane.

STEP 3� ;JWNK^�[NXZFQQ^�YMFY�YMJ�LWFUMX�FWJ�WJĆJHYNTSX� 
  of one another across the line y = x and that  
  the graphed points are the same distance  
  from the line y = x. 

Notice that the yȬ���������ȱ��ȱ���ȱ��������ȱ��������ȱ
is the x-intercept of the inverse and the x-inter-

����ǻ�Ǽȱ ��ȱ ���ȱ ��������ȱ ��������ȱ ���ȱ ���ȱ y-inter-

����ǻ�Ǽȱ��ȱ���ȱ�������ǯ
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YOU TRY IT! #2 ANSWER:

272 c H a P t e r  3 :  i n v e r s e s  o f  f u n c t i o n s

���ȱ�����ȱ��ȱ���ȱ�������ȱ��ȱ� ƺŗǻ¡Ǽȱ��ȱ��� �ǯ

YOU TRY IT! #2

	�������ȱ ���ȱ �����ȱ ��ȱ ���ȱ �������ȱ ��ȱ ���ȱ ��������ȱ 
function �ǻx) =  

3

x – 1
ȱƸȱŘȱ ����ȱ�����ȱ��ȱ��� �ȱ���� ǯ

See margin.

EXAMPLE 3
	�������ȱ���ȱ��������ȱ��ȱhƺŗǻxǼǰȱ���ȱ�������ȱ��ȱ���ȱ���������ȱ��������ȱhǻxǼȱƽȱřǻŘx + 1)ŘȱȮȱŝǯ

 STEP 1 Rewrite the function using x as the independent variable and y 
as the dependent variable.

 yȱƽȱřǻŘx + 1)Ř – 7

 STEP 2 Reverse the variables x and y in the equation and solve the 
equation for y.
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1.

2. ���ȱ�������ȱ��ȱ�ȱ��������ȱ
�������ȱ����ȱ¡Ȭ�����ȱ���-
������ȱ���¢ȱ���ȱ¢Ȭ�����ǯ

ADDITIONAL EXAMPLES
1.ȱȱ	�������ȱ���ȱ��������ȱ
of � Ȭŗ(xǼǰȱ���ȱ�������ȱ��ȱ���ȱ
������ȱ�������� 

�(xǼȱƽȱȬŜǻŗ–Řx ƸȱśǼȱȮȱŗŘǯ

�Ȭŗǻ¡ǼȱƽȱŘǻ ¡ȱƸȱŗŘ-6ȱȱȱȮȱśǼǰȱ��
�Ȭŗǻ¡ǼȱƽȱŘǻ ¡ȱƸȱŗŘ-6  ǼȱȮȱŗŖ
2.ȱȱ	�������ȱ���ȱ��������ȱ
of � Ȭŗ(xǼǰȱ���ȱ�������ȱ��ȱ���ȱ
���������ȱ��������ȱ 
�(xǼȱƽȱŗ–Ř(x ȮȱŚǼŘȱƸȱŗŖǯ

�Ȭŗǻ¡ǼȱƽȱŚȱƸȱǆŘǻ¡ȬŗŖǼ

3.ȱȱ	�������ȱ���ȱ��������ȱ
of � Ȭŗ(xǼǰȱ���ȱ�������ȱ��ȱ���ȱ
�����ȱ�������� 

�(xǼȱƽȱǻȬřx ȮȱşǼřȱȮȱśǯ

�Ȭŗǻ¡ǼȱƽȱȬřȱȮȱ
řǆ¡ȱƸȱś
řȱȱȱȱǰȱ��

�Ȭŗǻ¡Ǽȱƽȱ9 + řǆ¡ȱƸȱś
Ȭř
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 xȱƽȱřǻŘy + 1)Ř – 7

 

 xȱƸȱŝȱƽȱřǻŘy + 1)Ř – 7 + 7

 

 
x + 7

 = 
řǻŘy + 1)Ř

                                                                                  3                3

  

  ± ǆ
x + 7

 = ǆǻŘy + 1)Ř
                                                                                  3

 –1 ± ǆ
x + 7

3
ȱȱȱƽȱŘy + 1 – 1 

 

 
–1 ± ǆ

x + 7

3
   = 

Řy
ȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱŘȱȱȱȱȱȱȱȱȱȱȱȱ Ř

    
–1 ± ǆ

x + 7

3
   = yȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱŘ

 

 STEP 3 Rewrite the inverse as an equation.

inverse of hǻx) is  y = 
–1 ± ǆ

x + 7

3
     ȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱȱŘ

YOU TRY IT! #3

	�������ȱ���ȱ��������ȱ��ȱpƺŗǻxǼǰȱ���ȱ�������ȱ��ȱ���ȱ������ȱ��������ȱpǻx) = 
Ř
–
5
ǻxȱȮȱřǼȱƸȱŚǯ

pü�(x) = 
5—
2(x – 4) + 3

PRACTICE/HOMEWORK
���ȱ�����ȱŗȱ��ȱ��� ��ȱ���������ȱŗȱ���ȱŘǯ

1. 	�������ȱ���ȱ�������ȱ��ȱ���ȱ������ȱ��������ǯ
See margin.

2. ���������ȱ��ȱ���ȱ�������ȱ��ȱ�ȱ��������ǯȱ�¡�����ȱ¢���ȱ
��� ��ǯ
See margin.

        TABLE 1

x y
-1 -2

0 1

1 4

2 7

3 10

x y
-2 -1

1 0

4 1

7 2

10 3
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3.

4. ���ȱ�������ȱ��ȱ���ȱ�ȱ����-
����ȱ�������ȱ ���ȱ¡ȱƽȱŚǰȱ 
¢ȱƽȱ����ȱƺŗȱ���ȱŗǯ

5.

6. ���ȱ�������ȱ��ȱ�ȱ��������ȱ
�������ȱ����ȱ¡Ȭ�����ȱ���-
������ȱ���¢ȱ���ȱ¢Ȭ�����ǯ

7. 

8. ���ȱ�������ȱ��ȱ�ȱ��������ȱ
�������ȱ����ȱ¡Ȭ�����ȱ���-
������ȱ���¢ȱ���ȱ¢Ȭ�����ǯ

9.

274 c H a P t e r  3 :  i n v e r s e s  o f  f u n c t i o n s

���ȱ�����ȱŘȱ��ȱ��� ��ȱ���������ȱřȱ���ȱŚǯ

3. 	�������ȱ���ȱ�������ȱ��ȱ���ȱ���������ȱ��������ǯ
See margin.

4. ���������ȱ��ȱ���ȱ�������ȱ��ȱ�ȱ��������ǯȱ�¡�����ȱ¢���ȱ
��� ��ǯ
See margin.

        TABLE 2

���ȱ�����ȱřȱ��ȱ��� ��ȱ���������ȱśȱ���ȱŜǯ

5. 	�������ȱ���ȱ�������ȱ��ȱ���ȱ�����ȱ��������ǯ
See margin.

6. ���������ȱ��ȱ���ȱ�������ȱ��ȱ�ȱ��������ǯȱ�¡�����ȱ¢���ȱ
��� ��ǯ
See margin.

        TABLE 3

���ȱ�����ȱŚȱ��ȱ��� ��ȱ���������ȱŝȱ���ȱŞǯ

7. 	�������ȱ���ȱ�������ȱ��ȱ���ȱ�¡���������ȱ��������ǯ
See  margin.

8. ���������ȱ��ȱ���ȱ�������ȱ��ȱ�ȱ��������ǯȱ�¡�����ȱ¢���ȱ
��� ��ǯ
See margin.

        TABLE 4

���ȱ���ȱ��������ȱ���ȱ�����ȱ���� ȱ��ȱ��� ��ȱ���������ȱşȱ���ȱŗŖǯ

9. 	�������ȱ���ȱ�����ȱ��ȱ���ȱ�������ȱ��ȱ���ȱ
������ȱ��������ǯ
See margin.

10. Determine the xȬ���������ǻ�Ǽȱ���ȱy-inter-

����ǻ�Ǽȱ��ȱ���ȱ��������ȱ��������ȱ���ȱ���ȱ
xȬ���������ǻ�Ǽȱ���ȱyȬ���������ǻ�Ǽȱ��ȱ���ȱ
�������ȱ��ȱ���ȱ��������ǯ
K
]���]�NSYJWHJUY�
ü������� � 
y-intercept (0, -2)
f -1
]���]�NSYJWHJUY�
������ � 
^�NSYJWHJUY�
���ü����

x y
-2 7

-1 4

0 3

1 4

2 7

x y
-3 -2

-2 -1

-1 0

0 7

1 26

x y
-1 -2

0 -1

1 1

2 5

3 13

f(x) = –4x – 2

x y
7 -2

4 -1

3 0

4 1

7 2

x y
-2 -3

-1 -2

0 -1

7 0

26 1

x y
-2 -1

-1 0

1 1

5 2

13 3
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11.

13.

15.
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���ȱ���ȱ��������ȱ���ȱ�����ȱ���� ȱ��ȱ��� ��ȱ���������ȱŗŗȱ���ȱŗŘǯ

11. 	�������ȱ���ȱ�����ȱ��ȱ���ȱ�������ȱ��ȱ���ȱ
���������ȱ��������ǯ
See margin.

12. Determine the xȬ���������ǻ�Ǽȱ���ȱy-inter-

����ǻ�Ǽȱ��ȱ���ȱ��������ȱ��������ȱ���ȱ���ȱ
xȬ���������ǻ�Ǽȱ���ȱyȬ���������ǻ�Ǽȱ��ȱ���ȱ
�������ȱ��ȱ���ȱ��������ǯ
K
]���]�NSYJWHJUYX�
�������FSI�
����� �
y-intercept (0, -8)
f -1(x)��]�NSYJWHJUY�
������ � 
y-intercepts (0, -2) and (0, 2)

���ȱ���ȱ��������ȱ���ȱ�����ȱ���� ȱ��ȱ��� ��ȱ���������ȱŗřȱ���ȱŗŚǯ

13. 	�������ȱ���ȱ�����ȱ��ȱ���ȱ�������ȱ��ȱ���ȱ
�����ȱ��������ǯ
See margin.

14. Determine the xȬ���������ǻ�Ǽȱ���ȱy-inter-

����ǻ�Ǽȱ��ȱ���ȱ��������ȱ��������ȱ���ȱ���ȱ
xȬ���������ǻ�Ǽȱ���ȱyȬ���������ǻ�Ǽȱ��ȱ���ȱ
�������ȱ��ȱ���ȱ��������ǯ
K
]���]�NSYJWHJUY�
������ � 
y-intercept (0, 9.5)
f -1
]���]�NSYJWHJUY�
������� � 
y-intercept (0, -1)

���ȱ���ȱ��������ȱ���ȱ�����ȱ���� ȱ��ȱ��� ��ȱ���������ȱŗśȱ���ȱŗŜǯ

15. 	�������ȱ���ȱ�����ȱ��ȱ���ȱ�������ȱ��ȱ���ȱ
�¡���������ȱ��������ǯ
See margin.

16. Determine the xȬ���������ǻ�Ǽȱ���ȱy-inter-

����ǻ�Ǽȱ��ȱ���ȱ��������ȱ��������ȱ���ȱ���ȱ
¡Ȭ���������ǻ�Ǽȱ���ȱyȬ���������ǻ�Ǽȱ��ȱ���ȱ
�������ȱ��ȱ���ȱ��������ǯ
K
]���]�NSYJWHJUY�
����� � 
y-intercept (0, -8)
f -1
]���]�NSYJWHJUY�
������ � 
y-intercept (0, 2)

���ȱ���������ȱŗŝȱȮȱŘŖǰȱ��������ȱ� Ȯŗǻ¡Ǽǰȱ���ȱ��������ȱ��ȱ���ȱ�������ȱ��ȱ���ȱ��������ȱ�����ǯ

17.  �ǻx) = 3xȱȮȱŘȱ 19.  �ǻxǼȱƽȱȮŘǻřx + 1)Ř

f –1(x) = 
x + 2

3             f -1(x) = y = 
–1 ±

 ǆ
x—-2

                  3

18.  �ǻx) = 
1
–ŚǻŞxȱƸȱŘǼȱȱ 20.  �ǻx) = 

1
–ŘǻŘx + 5)Ř

 f –1(x) = 
2x – 1

4                                                         f
-1(x) = y = -5 ± ǆ2x

                               
2

f(x) = 
1–2(x + 3)3 – 4

f(x) = 2x2 – 8

f(x) = 3x – 9


